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VPR E| Fe R Bk | iBR =
(pH) (cop) (DO)
m m mg/L mg/L mg/L mg/L mg/L
o1 2011/6/4 | 33 0.5 A 8.16 1.3 8.9 il 0.12 | 0.012 [#5&7% L] 0. 001 A
29 8.15 1.3 8.6 0.10 [ 0.012 0. 002
-2 2011/6/4 [ 103 0.5 [H#EE7L] 8.16 1.2 8.8 [#EEZ2 L] 0.10 | 0.010 [HE2 L]0. 001K
94 8.12 1.1 7.8 0.15 | 0.016 0. 001K il
-3 2011/6/3 | 152 0.5 [fExL] 8. 17 1.3 0.0 [#EE2L] 0.11 [ 0.012 [HE%RL]0. 001K
148 8.12 1.3 8. 1 0.15 | 0.016 0. 001K i
-4 2011/6/3 | 755 0.5 [fE7xL]8.15 1.3 0.0 [#EE2L] 0.14 | 0.013 [HEE2 L] 0. 001K
151 8.12 1.1 8. 1 0.17 | 0.019 0. 001 K it
Ferm= H-1 [2011/6/10] 16 0.5 A 8. 14 1.2 8.6 i 0.10 [ 0.007 [f@&E7 L]0. 001 KT
15 8. 09 1.2 8.2 0.14 | 0.014 0. 001K il
FerimH-2 [2011/6/10] 78 0.5 [HERL]8. 14 1.0 8.9 [#@zL] 0.09 [ 0.007 [#5E2 L]0, 001K
76 8. 09 1.0 8.0 0.15 [ 0.015 0. 001K i
Ferim H-3 [2011/6/10] 138 0.5 [#EiL] 8.15 1.0 8.6 [#E@zL] 0.09 [ 0.008 [#E2 L]0, 001K
134 8. 05 1.1 7.8 0.14 [ 0.015 0. 001K il
ZAE-1 2011/6/11] 10 0.5 A 8. 14 1.4 9.0 il 0.14 [ 0.010 [#&E2 L] 0.002
10 8. 11 1.2 8.7 0.11 [ 0.011 0. 001 K i
SAlE-2 2011/6/11] 134 0.5 [HErL]8. 14 1.0 8.5 [#@zL] 0.11 [ 0.010 [FE2 L]0, 001K
130 8.03 1.2 7.8 0.17 | 0.017 0. 001K it
SALVE-3 2011/6/11] 171 0.5 [HErL]8. 14 1.1 8.3 [#E&EzL] 0.09 [ 0.009 [F&E2 L]0, 001K
165 8.03 1.1 8.0 0.17 | 0.016 0. 00147
R = f-1 2011/6/13] 21 0.5 A 8. 14 1.4 8.1 il 0.09 | 0.007 [#8:&7 L] 0.001
18 8.05 1.6 7.1 0.15 | 0.016 0. 002
g = -2 2011/6/12] 63 0.5 A 8.17 1.4 8.8 [#EEZ2 L] 0.09 | 0.007 [H&E7 L]0. 001K
58 8.08 1.4 7.9 0.14 | 0.014 0. 00147
FE — -3 2011/6/12] 137 0.5 [fE7xL] 8.15 1.3 8.6 [4EE2 L] 0.09 | 0.008 [#EE7 L]0. 001K
136 8.06 1.2 7.7 0.18 | 0.018 0. 00147
-1 2011/6/16] 16 0.5 A 8.21 1.6 7.9 |#EEZR U] 0.14 | 0.008 [HEE7 L] 0. 001K
14 8.17 1.3 8.3 0.15 | 0.016 0. 00147
1182 2011/6/16] 35 0.5 A 8.21 1.3 7.7 |#EEZR U] 0.14 | 0.007 |HEE2 L] 0. 001K
30 8.13 1.1 7.9 0.11 | 0.012 0. 00147
f18-3 2011/6/16] 46 0.5 [fE7xL] 8.21 1.4 7.9 |#EEZR L] 0.12 | 0.007 [HEE L] 0. 001K
40 8.10 1.0 7.3 0.15 | 0.016 0. 00147
fii&-1 2011/6/17] 21 0.5 B 8.21 1.8 8.0 |[#EE2 L] 0.18 | 0.010 [#&E7 L]0. 001K
20 8.08 1.4 6.8 0.11 | 0.011 0. 001 KT
flia-2 2011/6/17] 31 0.5 A 8. 18 1.6 8.0 [#E&EzL] 0.13 [ 0.007 [¥E2 L]0, 001K
28 8.09 1.2 6.7 0.15 | 0.013 0. 001 KT
il &-3 2011/6/17] 42 0.5 [#EE7L] 8.20 1.7 6.2 [|dEEZ2 L] 0.14 | 0.008 [#Es L] 0. 001 AT
40 8.07 1.2 6.5 0.20 | 0.020 0. 001 KT
flia-4 2011/6/16] 130 0.5 [#ExL] 8.19 1.3 8.2 [#E&Ez L] 0.11 [ 0.008 [#E2 L]0, 001K
126 8.06 1.0 7.7 0.17 | 0.017 0. 001 KT
£ H-1 2011/6/18] 20 0.5 A 8. 18 1.7 8.1 [#&EzL] 0.14 [ 0.008 [#E2 L]0, 001K
18 8.07 1.6 6.4 0.13 | 0.014 0. 001 KT
44 B2 2011/6/18] 31 0.5 A 8.19 1.8 8.4 [#E&Ez L] 0.17 [ 0.009 [#E2 L]0, 001K
28 8.10 1.6 7.5 0.12 | 0.012 0. 001 KT
44 -3 2011/6/18] 38 0.5 [#EE7L] 8.20 1.9 6.2 [|dEEZ2 L] 0.14 | 0.007 [#&E7 L] 0. 001 AT
35 8.09 1.5 7.3 0.14 | 0.015 0. 001 KT
FHE-1 2011/6/19] 20 0.5 A 8.06 1.3 7.1 |#EEZ2 U] 0.11 | 0.007 [HE7 L] 0. 001K
18 7.99 1.2 6.1 0.12 | 0.011 0. 001 KT
B2 2011/6/19] 31 0.5 A 8.15 1.4 8.1 [#EEz2 L] 0.12 | 0.006 [#Es L]0. 001 AT
29 8.05 1.2 7.1 0.12 | 0.014 0. 001 KT
FIE-3 2011/6/19] 43 0.5 [#E7RL]8.17 1.4 7.8 |#EEZR L] 0.11 | 0.007 |#EEs L] 0. 001 AT
42 8.04 | 1.2 ]86.9 _ 1 o017 ]o.017 0. 00178
SEDOIL e 2 VN T SR BB 2 1T > Ca D~ %03 % BRBUE OB 2 sk L 7= (0. bmE & U C e L@ DR & Bh) .




